ldd

rpz IOoH

a0

| TQOoH

NN A

-3

NN

|TnE @2 240

¢dd

NN oW oE

ol EREVE- RN

NN ORI

|TpEe @2 240

71

. NSF H1

o3| =9
4 «,‘ -FP1 series
e e
A @X 2 M2 X|Z: ¢20~¢200
.
S HEE S0
7I2t271 No.CB-029S @
Bl (mm)
FJ-%-3 M3x0.5 0.019 0.5
4 M4 x0.7 0.053 0.5
5 M5x0.8 0.121 0.5
6 M6x1.0 1.08 0.75
8 M8x1.0 1.08 1.08 1.08 0.75
8-1.25 M8x1.25 1.08 1.08 1.08 0.75
10 M10x1.25 2.45 2.45 2.45 0.75
12-1.25 M12x1.25 2.45 2.45 2.45 0.75
12 M12x1.5 2.45 2.45 2.45 0.75
+5° -10~60C

14 M14x1.5 5.88 5.88 5.88 1.0
16 M16x1.5 10.8 10.8 10.8 15
18 M18x1.5 10.8 10.8 10.8 15
22 M22x1.5 17.6 17.6 17.6 2.0
26 M26x1.5 27.5 27.5 27.5 3.0
30 M30x1.5 60.8 60.8 60.8 3.0
36 M36x1.5 87.3 87.3 87.3 4.0
40 M40x1.5 87.3 87.3 87.3 4.0
45 M45x1.5 108 108 108 4.0

F1 A ME O YFH2 Hakss UEULH

CKD



FJ 'F P1 Series

S HEAl Y

o
(F)-(0)-(3)-FP1
=2 e
= A
Q5 EEE 2
[=)
I3 Cl;r
ZAHX|H a]
- - B O O _I [:-I
O LA A XIS X TR = o L F
4 |M4x07 ° Y
5 M5x0.8 ) &
6 | M6x1.0 ° Al
<YH HA| 0f> 8 |M8x1.0 e | o | o
FJ-0-3-FP1 8-1.25 [M8x1.25 e (o | o
10 |M10x1.25 o | o | o s
71E: B2 XQIE AEE 53 1214 Y o
Gl'l ! E-;Za < 12-1.25 |[M12x1.25 IR "
'I'_l_ — o
OLtA BE XIEX IR M3x0.5 12 [M12x15 ° ° ° =]
14 |M14x15 o [ o | o o
16 |M16x15 o | o | o Fl =
18 |M18x15 o | o o |uR
22 [M22x15 o [ o | o | My
26 |M26x15 e | o | o ;I5
30 |[M30x1.5 ° ° ° §I
36 |M36x15 o | o | o
40 |M40x15 o | o | o A
45 |M45%x1.5 ) ) ® g‘:
7|
7|
|
ol
2}
il
7|
7|
Tor
|
H
o
Ig
=]
|
ol
=
?_I
7|
7|
ot
=
bl
z
Iél
3]
-
)
N
Il_l
S
7|
7|
F
b
H
o
- = - ‘ = - - HH
Q3 X0 feiMe ‘2 M2IH ZEHI(CB-030S) 7IRZ29| FJ A|2|XE EX6H FAAIL. g

CKD 72





